o
= | R 8 e =~
s = [gF 8 7—g ‘|n bupmoupid —
S S S =
= g-g ‘|n bupmopysefoud —
g o 'Z 9IUDMOZAZINS
m M ®_ | _@N.N_‘m+o W 2NN A Ns [JAVA!
= o [T
x Y 9970¢ "zi CM Jsndm "Jd 2100 os 08| X "000!
E S .W boN 00Z1E+0 Wy ! ™
N S .
o b BLY0E [0S 908 | T 7000
s g8 8 <l s I/
o o s .
£_E| EE| = |s|® Fovocfeevo| (D 0006
N8|l S E| = o
- 5 buzidumem oo " -0y
o § 2 5 7y 3bolb DU pzolz pzofz 26098 408| [ 1l 0008
°Scsl 82| += YTLLTH0 WY 66 VL) W Y B8 ¢
858 88| = % — . [G0°C08 9008 o8 F000L
°%o| £8| B [ ¢ 90'G0E 21 ZM 3NN I oyrane 7y yendw 1d 5 m
ss58| _&8 & |8 & 00'692+0 W WZ NYuIopo Du T e ®
'€ e m. = o obamoiso nya1os -okjdAm LGOS S0E | [ =2 I ro009
© F| © £ 3 02'£92+0 n_%_u
o © IR — L.
g e WM@WNL& - 69'G0¢ [ 6L 08 egmumm 00705
.- g pzofz N 5|
”m 2 m NS G 0vZ+0 Wy COHS02[ 2090 | gy =y 000%
m €S m, £ MJ pzolz I <E Lo
£ fda |8 =l 8 T 27'90¢ [ 9°90¢ = mwm z [0
S0-¥9-+57-260 Xo4/19r  MIAZOAINVLS P4aiblg puuy Mim _HW 3
oMoy 188-0y - °° VN £6°907 [16790¢ ,.1\m = | 000¢
9% wwmw ATV _ e z
HOANVNINOY  MoLiarodq  odnig pzolz o vocfisis| S2E[ET S Foool
= — 08020 WY s
S ol .
buzijdumam Duzoloy pubd CHLOT[86°L0T | mSS S 000
360Jp pu pzolz ERNESN
86C6IF0 UM o — S L
DUZOJDU DWIDI] 0980¢{€980¢ < |55 % 0006
© Mk N
N S ©
NN T N & h_m 70008
i1E | &
[000IC[0001E| [ o= < [000L
pzp(z NE =
‘C914+0 Wy & -
? L0IC el == =5 (0009
| = T | Rl
R
Al =5 70005
oolz N[ ] BSE [0
VTV U 1 g el s L.
S A P = R O
ez 3
N VST | < L
[8CICTLLCIE el o 000¢
pzolz —
SEehi+0 U ool {BE) ool
w qm% o)
CECICTeeIelE / BITS | 8 1000
pzolz et S
89°C60+0 U bl D 1ER] 0 L
[T B 1 [0006
pzDlz SeS T
GC'080+0 wH CrSIET PP GIE Mﬂm 10008
T
£
[96°G1C[ 20918 | & 2 oo
© e}
9] 0
i ~ I B
pzp(z AR AT ___ %m_ - 0009
¢0°LG0+0 WA =
o
[88°91C(/8°91¢ W 10005
—
pzolz CLIETLCLS gEgl = [000F
[97750+0 W 55| <%
ol g2
(11| Tl mmm 7000
3
05 LIST8Y LIS m m 70002
0021 8LLIE B\ & 000!
o
S \7| A
pluomoopido zood i
| ‘
00°000+0 Wi S 5,
5| = @ :
S|l 5| s| 2
o | & | 2 o
nl = bt c S ..
& < | 2| = ~ |5
+— +— A
) ) c c 9
c c 3] ) o
2 8| € S 0
N N 9 o o
o o Ll Ll (@)




